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Questions:

Q1. Choose the word that can be substituted for the given sentence.
Strong and settled dislike between two persons.

A. Apathy
B. Hatred
C. Antipathy

D. Animosity
11 in the blank to make

Q2. Pick out the most effective word from the given words to fi
the sentence meaningfully complete.

will remember Lincoln as a truly great man.

A. Posterity
B. Probity

C. Posterior
D. Postdate
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Q3. The following sentence has been given in active or passive voice. Out of the
alternatives given, please select the sentence in passive or active voice.

The noise of the traffic kept me awake.

A. Iremained awake by the noise of the traffic.
B. I was kept walking by the noise of the traffic.
C. I was kept awake by the noise of the traffic.
D. The traffic kept me awake by the noise. _

Q4. In the following question, a sentence has been given in Direct / Indirect speech.
Out of the four options given, select the one which best expresses the same sentence in

Indirect / Direct speech.
Sarita said to me “I will do it now or never”.

A. Sarita told me that I would do it then or never.

B. Sarita told me that she would do it now or never.
C. Sarita told me that she will do that now or never.
D. Sarita told me that she would do it then or never.

Q5. Choose the correct antonym for the word given below.

Entreaty

Immense
Commands
Request
Hatred
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Q6. Choose the correct synonym for the word given below.

Gaudy

A. Modest
B. Showy
C. Refined
D. Sophisticated

Q7. The most famous centre of learning during Maurya period was?

A. Vaishali
B. Nalanda
C. Taxila
D. Ujjain

Q8. Yakshagana is a famous dance form of which state?

A. Kerala
B. Assam
C. Gujarat
D. Karnataka

Q9. Nilachal Flyover, which was seen in the news, is located in which state?

A. Assam

B. Sikkim

C. Arunachal Pradesh
D. West Bengal

Q10. Dr. Shanta Thoutam, who received the World Innovation Award, is the Chief

Innovation Officer (CIO) of which state?
Tamil Nadu

Telangana

Odisha

New Delhi

Towy

Q11. Which city is the host of ‘Technotex 2023, India’s premier show on Technical

Textiles?
A. Gandhi Nagar

B. Guwabhati
C. Mumbai
D. Pune

Q12. Which country signed an agreement with the European Union to collaborate on

responsible advancements in Artificial Intelligence?



A. United States

B. United Kingdom
C. Australia
D

. Germany f
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Q13. From the following three elements g hree clements.

best represent the relationship amongst the t
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ain point the author is trying to

Pen, Copy, Colour

Q14. Read the paragraph carefully and determine one m

make.
has increased by about

During the last six years, the number of practicing physicians had Tibteased
20%. During the same time period, the number of health care managers has 1 \
lost the authority

by more than 600%. These percentages mean that many doctors have -
to make their own schedules, determine the fees that they charge and decide on

prescribed treatments.
This paragraph best supports the statement that doctors

resent the interferencé of healthcare managers.
are less independent than they used to be.

no longer have adequate training.

care a great deal about their patients.

TOowy

15. Statement: “Do not copy our software without our permission’ — A notice.
py p

Assumptions:
(i) It is possible to copy the software.
(ii) Such warning will have some effect.
Answer which of the assumptions is implicit in the above statement?

Only assumption (i) is implicit
Only assumption (ii) is implicit
Neither (i) nor (ii) is implicit
Both (i) and (ii) is implicit
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Q16. 1f 6™March, 2005 is Monday, what was the day of the week on 6™ March, 20047

A. Sunday
B. Saturday
C. Tuecsday

. Wednesday

Q17. Choose the missing word in place of sign (?) on the basis of the relationship
between the words given on the lefthand side of the sign.

Letter:Telegram: : Train: ?

Aeroplane
Horse

Messenger
. Telephone

ocnw>

Q18. 16 men finished one-third work in 6 days. The number of additional men are
required to complete the job in next 6 days:

A. 10
B. 8
C. 16
D. 32

Q19. The selling price of 13 articles is same as the cost price of 23 articles. What is the
profit percentage?

43.47%
74.83%
76.92%
78%
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Q20. When 5 is added to the numerator and denominator both of a (positive) fraction,
then the new ratio of numerator to denominator becomes 11:15.

What is the original ratio?

17:25

3:5

28:40

None of these
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Q21. The sum of a number and its reciprocal is thrice the difference of the number and
its reciprocal. The number is?
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office 10 min later than
Q22. By walking at (4/5)™ of his usual speed, 2 person r eaches

usual. What is the usual time?

A. 38 min
B. 40 min
C. 30 min
D. 50 min

s ot titive?
Q23. Which one of the following industries is monopolistically competiti

a) Automobile industry

b) Steel industry

¢) Car repair industry

d) Electricity generation industry.

Q24. The business sector that requires minimum initial investment 1s:

a) Fast moving consumer good
b) Consulting firms :
c) Construction

d) Manufacturing.

Q25. The primary domain that is relevant to a food delivery company such as Zomato
and/or Swiggy is:

a) Computing
b) Data Analytics
« c) Trading
% d) Operations research.

Q26. A popular recruiter does the following to attract talent:

|

f a) Creates brand awareness

'\, b) Offers a high compensation package
“ c) Holds a competitive screening

l’ d) Offers a lucrative job location.

\ Q27. Which of the following is a supplier to aviation industry?

a) General Motors
b) Pratt and Whitney
c) Tata Industries

d) Wheel and Axle.



Q28. The basic reason for an organization’s existence is:

a) The organizational vision

b) The organizational mission

c) The objectives of the organization
d) The owner of the organization.

Q29. A preplacement talk by a recruiter can result in the following:

a) Good compensation package
b) Brand Awareness

c) Talent awareness

d) A good placement slot.

Q30. A conflict resolution in a placement office begins with:

a) Clarification of the situation
b) Establishment of alternatives
c) Identification of the difficulty
d) Isolation of the cause.

Q31. A fair and a transparent placement policy is:

a) A shortcut for thinking

b) A good action plan

C) A substitute for strategy

d) A substitute for management authority

Q32. You are provided with an assertion and a reason below. Choose the appropriate
response from the choices given:
Assertion (A): As the pressure increases, the volume decreases if the
temperature is constant.
Reason (R): When temperature is constant, pressure and volume are inversely
proportional to each other.
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but R is not the correct explanation of A
c) A istrue but R is false
d) A is false but R is true.

Q33. A preplacement offer by a recruiter ensures the following:
a) Conservation of resources
b) Retention of talent
c) Popularity of the firm
d) Delivery of the objectives.

Q34. A student placement session is scheduled from December 1 to December 10.
About400 recruiters and 2000 job aspirant students are participating in the campus
placement drive. The drive has to be concluded in 10 days, including screening tests,
shortlisting and interviews. Which of the following management techniques can be
suitably used to manage the activity?
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a) PERT (Project evaluation and review technique)

b) CPM (Critical path method)
c) LPP (Lincar programming problem)
d) None of the above.
Q35. A probability model applies well to the following:
a) Construction projects
b) R&D projects .
c) Project having repetitive nature of job
d) All of the above
s/are exempted from disclosure:

Q36. As per the RTI act, the following i :
a) Compensation packages offered by the companies

b) Monthly remuneration received by an empl'oy ee [evancest
c) Personal information the disclosure of which has no relev.

activity
d) Placement statistics

Q37. Which is the right sequence in talent management process?
a) Talent acquisition, talent assessmen

b) Talent assessment, talent acquisition,

c¢) Talent development, talent acquisition,

~d) Talent retention, talent development, ta

Q38. Management ' in order to achieve the goals.

A. registers trademark

B. develops tactics

C. formulates strategies

D. outsources operations

Q39. The problem-solving process begins with?
A. clarification of the situation

B. establishment of alternatives

C. identification of the difficulty

D. isolation of the cause
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t, talent development, talent retention
talent retention, talent development
talent assessment, talent retention
lent assessment, talent acquisition.



Q40. ______ helps organization reduce employee turnover and absenteeism

Job design

Training & development
Wage revision

All of the above
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Q41: Given selling price is Rs 10 per unit
is Rs 5,000. What is break-even point?

variable cost is Rs 6 per unit and fixed cost
A. 500 units
B. 1,000- units
C. 1,250 units
D. None of the above
Q42. Is student?
a) Product
b) Customer
c)Channel partner
d) Can’t say
Q43. The training of the students for the future jobs requires?

Integration of all the syllabi

Extra inputs from software world

Extra inputs from the behavioral Experts
Perspective around specific skill development

PN

Priorities the above answers in terms of sequence.
a) 1234 b) 2341 c) 4312 d) 2431

Q44. Development of placement scenario in IITs require the integration of all the
departments which is related to:

a) The product centric effort
b) service centered effort

¢) holistic marketing effort
d) none of the above

Q45. A prerequisite for a successful and efficient recruitment programme is to have
a(n)? '



| S

a) Corporate Policy

b) HR Policy

¢) Recruitment Policy

d) Health and Safety Policy

Q46. What is meant by a ‘golden hello’?

a) Cash lump sums offered to people leaving the organization

b) Cash lump sums offered to new recruits
c¢) Cash lump sums promised to people who r
d) Cash lump sums promised to employees W

efer a friend

ho stay on in the organization

Q47.______is grievance settling machinery with less legal procedure-

A. mediation

B. arbitration

C. litigation

D. moderation
Q48. What does it imply when the term <education’ is defined as the continuous
reorganization and reconstruction of experience?

A. It is process of training of adult life

B. It is a process of individual growth

C. The chief outcome of education is discip

D. An emphasis on knowledge as the chief aim of ed

lining the mind
ucation

Q49. Which of the following correctly defines the Human Resource Department?

Functional department
Service department
Line department
Authority department
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Q50. A hypothesis is a?
Tentative statement whose validity is still to be tested

Statement of fact
Supposition which is based on the past experiences

All of the above
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